
REQUIRED TOOLS

9/16” Wrench Allen KeyX2

Part # RTDH1K

System Ratchet-Tie-Down

Material Stainless Steel

Fitment H1 Series Mounts (via. eyehooks)



PART # DESCRIPTION QTY ITEM
ITEM NOT DRAWN TO SCALE

B078 3/8” X 1” HEX BOLT 2

B130 3/8” X 1” BUTTON HEAD 2

N003 3/8” NUT 2

W012 10MM  X 18.6MM WASHER 2

W013 3/8”  X 3/4” WASHER 4

W015 3/8”  X 1” WASHER 2

W023 3/8” WASHER (LOCK) 4

RTD10 RATCHET-TIE-DOWN 1

RTDH1 H1 ADAPTOR 1



Pull on strap
Release Strap

W013

W013

RTD10

RTDH1

W023

W023

N003 W015

W012

B130

B078




